Class:10th

Test:Math

Attempt ......... questions

' An equation which remains unchanged
replacing x by 1 /x is called:
a)Exponential equation
b)Reciprocal equation
c)Radical equation

d)None of these
2 The Quadratic formula is:
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* Equation is 2x'-3x +7x ~3x+2=0 called:
a) Reciprocal b)Radical
¢)Exponential d)None

An equation 3'+377+6=0 is of form:
a) Radical
¢)Reciprocal

b) Exponential

d) None of these

5 Two factors of x'~15x+56=0 are
a)(x+8)(x-8) b)(x-8)(x+7)
c)(x-8)x-7) d(x+8)x+7)

6 Equation 3~ +6=0 is of type:

b)Radigal

d)None

a)Exponential

c¢)Reciprocal

Solution set of equation 5x ~125=0 is:

a){5} b){10}
c){-5} d){+5)}

8 Solution of equation 4x ~16 is :
a){+4} b){4}
c){+2} {2}
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